澄城中学英语教（学）案

年级：高三      编写人： 刘莹       审核人： 李明芳     编制时间：

	课题
	必修四第二单元

	班级
	
	授课（完成）时间
	4
	教师（学生）
	

	教

学

目

标
	知识

与

技能
	Master the key words and expressions in this unit .

Recite the excellent sentences in the text.

	
	过程

 与

方法
	Learn first ,teach second 

Cooperation discussion

	
	情感

态度

与价值观
	    Learn something about yuan longping and agriculture

    Encourage students’ confidence in english learning

	重

点

难

点
	Build up equip regret

 sruggle , lead to ,expand , rid ,thanks to , would rather, be satisfied with, reduce



	学生自学反馈
	

	知识清单导学
	备  注

	1学情自查：校本教材学情自查

2单词拓展1斗争______________ 2循环_________________3战斗_________4使变大，膨胀_______________

5打扰_______adj________adj_______ 

6因此所以_________7焦点，中心______8减少___________9发现v________n_________10国籍________adj______11配备，装备________12遗憾，惋惜________13输出，出口______14与____________斗争________________

3短语记忆

1幸亏,由于__________________2摆脱，除去____________________________3对….感到满意________________________4宁愿，宁可________5集中精力于___________6导致________7逐渐增强______8怀着…….希望_________________9与……并肩作战___________________
	

	核心知识突破
	备  注

	1struggle 

Sruggle with _______struggle for________struggle to do _________struggle to one’s feet__________

2equip _________n_________adj_________

equip sb with________ be equipped with________装备良好的__________

3confuse v__________adj_________

4avoid +_______________

5expand 与extend，spread的区别

Can't you extend your visit for a few days?
The tourist season extends from May till October. 
He is thinking of expanding his business
Water expands when it freezes. 

Flies spread diseases
She was told not to spread this secret around
6becauseof,thanks to与owing to ,due to 的用法及区别

．1）because of意为"由于，因为"，强调因果关系，在句中仅作状语，修饰句中的一部分，与其他成分不用逗号隔开。如：We must not get discouraged because of such a minor setback． 

我们决不可因为这样一个小小的挫折而灰心丧气。 

2．）owing to与because of一样，也强调因果关系，除作状语外，也可作表语。作状语时修饰整个句子，可在句首或句末，用逗号隔开。如： 

They decided to cancel the flight，owing to the storm． 

由于这场暴风雨，他们决定取消这个航班。 

His death was owing to an accident．他死于一场事故。 

3．）due to引出造成后果的原因，在句中作表语、状语和定语。作表语和状语时与owing to同义，作状语时，一般不与其他成分隔开。如： 

This accident was due to（owing to）his careless driving． 

这次车祸是由于他开车疏忽大意造成的。 

He arrived late due to（owing to）the storm．由于暴风雨他来晚了。 

Mistakes due to carelessness may have serious consequences． 

由于疏忽大意造成的错误可能带来严重的后果。 

4．）thanks to表示"幸亏，多亏"多用于表达正面意思，相当于感谢，在句中作状语和表语。如： 

Thanks to your advice，much trouble was saved． 

多亏你的建议，减少了许多麻烦。
7 would rather do

Would rather have done 

Would rather sb did 

Would rather sb had done 

  We’d rather he paid us the money tomorrow. 我们宁愿他明天付给我们那笔钱。 

  Don’t come tomorrow. I’d rather you came next weekend. 明天别来。我希望你下周末来
I would rather go to work by bike than by bus. 我宁愿骑自行车也不愿乘公共汽车去上班。 

 I would rather talk with his mother than with his father. 我宁愿和他妈说话而不愿和他爸说话
8 regret 

Regret doing _____ __

Regret to do_______________

I regret that you see it like that. 

I believe you will regret leaving Paris.
I regret to say that I am unable 

9倍数表达  倍数+as …..as 

e.g his room is twice as big as mine.

其他表达法：——————————————————————————————

Key sentences 

1 this special strain of rice makes ___________to produce one—third more of the crop in the same fields.

2_______into a poor farmer’s family in 1930,Dr Yuan graduated from Southwest Agricultural College in 1953.

3Dr Yuan is quite _________his life.

4________his research , the UN has more tools in the battle to_________hunger.

5________to grow more rice has been his life goal.

6 Dr Yuan grows _______is called super hybrid rice.


	

	当堂检测
	备  注

	1. If you blood_______ badly, your hands and feet will get cold easily.
　　A. passes B. crosses C. circulates D. circles
　　2. --- Shall I open the window to let some fresh air in?
　　--- No, ._________
　　A. I’d rather not B. I’d rather you not
　　C. I’d rather you didn’t D. I’d like not to
　　3. He got completely _______when he saw both Lucy and Lily, who are twin sisters.
　　A. confusing B. confused C. confuse D. confuses
　　4. The professor referred to_______ yesterday.
　　A. come B. came C. coming D. comes
　　5. He insisted that he________ from heart trouble, but I didn’t think so.
　　A. should suffer B. has suffered C. suffers D. was suffering
　　6. It is generally considered unwise to give a child_______ he or she wants.
　　A. however B. whatever C. whichever D. whenever
　　7 --- What happened to your shoes?
　　--- They want_______ .
　　A. to mend B. being mended C. mending D. mended
　　8. The boy is only five years old, but he is quite used________ the telephone.
　　A. to answer B. to answering C. of answering D. by answering
　　9. The officers narrowly escaped_______ in the hot battle.
　　A. have killed B. to kill C. to be killed D. being killed
　　10. It isn’t quite_______ that the director will be present at the meeting tomorrow.
　　A. sure B. right C. certain D. exact
　　11. Did you find___-___ impossible for him to tell the truth?
　　A. this B. it C. that D. what
　　12. ________my English teacher, I have become what I am.
　　A. Thanks for B. Thank to C. Thanks to D. Thank for 
　　13. The house rent is expensive. I’ve got about half the space I had at home and _________I’m paying here.
　　A. as three times much B. as much three times
　　C. much as three times D. three times as much
　　14. When I said that some people are stupid I was no______ you.
　　A. talking to B. referring to C. turning to D. listening to
　　15. Do you know that_______ with wise men improves your mind?
　　A. chat B. Chats C. chatted D. chatting
16Our school ________ new facilities. 　　A. is equipped with B. equips with C. will be equip with D.is equipping with

17I’d rather you ________her at the airport tomorrow morning
A  meets B met   C had met  D would meet

18______in a poor family,she is used to a simple life
A.Born and breeding

B.Having born and bred

C.Born and bred

D.Being born and bred
19He fell__a rock in his walk and__to his feet. 
over;struggled B.off;ran C.over;stood D.off;brought
20We do not have enough money ._____we can not afford to buy a new car.

A therefore B but C besides Dhowever

21 From his ______voice on the phone, I know everything is under way.

A satisfactory B satisfying C satisfied D satisfaction

22He kicked the ball into his own goal.It was____his stupidity____we won the game.

A.thanks to,that    B.due to,that    C.owing to,which   D.on account of,which
23what one thinks and feels is mainly ______ traditions, habits and education.

A. because of

B. due to

C. thanks to

D. owing to


	

	

	答案：CCBBDBCBDCBBDBDABCAACAB


